SN FEE RHEBTVLVEFNEIATHE FHEHER
no|  BiE- 2 ko H HBENE - B
B o %’ T
13:00  13:30 |=fF [6F #HE]
13:30 = 13:50 BEX - AT TF—v a3y
14:00 = 15:20 |O#EREEE : MEFDOL Y IKER
9198 (XER)
1 6RE HE . =
. (6P BE - EZE)
HED: BEHR B ONKBIA
15:40 = 16:30 |QICT:EEE : Btz BN (6B EE)
EBE 7Oy o7 -0 FER OFHEIA
10:00 = 10:30 |=2fF [3F ZHEKR—IL]
10:30  11:00 [#VZTvF— 3>
118148 (KER) 11:00 12:00 (QHtERE : BFEREXPTLYT—RE
2
BFEFESE HEN YT —RAR w7
12:00 | [ZB/F— L TEE]
12:00 = 13:00 | [FFEELEIIBEARREF]
10:00 10:30 |=f+ [3fF FeE=301)
10:30 | 12:00 |@fEREEEE : BF3H G HEEE30L)
HED  —RHEEEAN FrL TR - 3AA
7 HE A
12A18H8(AKEAR)
3 AEmRAE 12:00 13:00 | (B®) 3 theE=301
13:00 14:00 BREE . 70V—F T AFYy IzavY—}
(1F X&E;=E101)
HEN a4 TEY
14:20 | 14:50 (Bl (1B KSZEE101)




